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Question Number : 1 Question Id : 5244764201 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Goodwill account 1s related to:
SO e HAE Ho0BODIE:
Options :

1. Personal Account
S§8ied ez

2. Real Account

QBN P°T°

Nominal Account
eI €6 T

fad



4. Tangible Account
(D358, e

4. ® -

Question Number : 2 Question Id : 5244764202 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Accounting does not record non-financial transactions because of:

205" 0¢300 A 5°BLOM™ e38Te58 XTI B5D TONEW:

Options :
1. Entity concept
IPEEERNGIVARARNIN
2. Accrual concept
SO PR
2. % :
3. Measurement concept
§eed 2%
3.¢ ;
4. Double entry concept
5200 Jodh PR )
4. %

Question Number : 3 Question Id : 5244764203 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A bank reconciliation statement is prepared by

2°508 O3S (DEEI DI SO D 0?
Options :
1. Customer of the bank

Lo 2505 &

-2

Bank
- 2508

3. Reserve bank of India
H230 § 23°505 €3 QOGO

3, %
4. None of the above
L DO T

Question Number : 4 Question Id : 5244764204 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The discount column of a triple column cash book records

€3O 500 250 205 850 50 SO0 .
Options :

1. Trade discount
°e3238 5008



2. Cash discount

5¢5 S$H0D)
2.9
3. Quantity discount
} D070 30
3.
4. Seasonal discount
e 3005
4. %

Question Number : 5 Question Id : 5244764205 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the rate of gross profit is 25% on cost by goods sold and the sales are Rs.2.00.000/- the
amount of profit will be

DEON0DD HYE B AT 32250 DEN 25% SOOI 2963570
55°.2.00.000/- @003, 7230 JNBO?

Options :
1. Rs.50.000

1. ®

, v 2. Rs.40,000

3. Rs.45.000

3. %



.« 4 Rs.65.000

Question Number : 6 Question Id : 5244764206 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Window dressing is prohibited due to

-

DOE Edyoh B SELOTT A AR0LIDBOE?

Options :
1. Conversion of conservatism
QOO0 AN EY, P0G

1.v
2. Conversion of disclosure
- a7 Q350 ABNEY Hrd G
3. Convention of materiality
- 25 e38ed O30 DAPRFO

4. Accrual concept
|57 230

Question Number : 7 Question Id : 5244764207 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Vertical analysis of financial statements is also known as

308 ABAED AeN) DFNED WP @ SreE® e0EHd

Options :
1. Dynamic analysis
. BIME DA
2. Static analysis
. eSS DFNED

T4l

Structural analysis
\ DT DINED

4. Both (1) and (3)
(1) 50005 (3) DO

4.

Question Number : 8 Question Id : 5244764208 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Copyrights, Patents and Trademarks are examples of

SOV, DTOLY SO0 [BIRNPDY N BIE T GeIen?
Options :

1. Current assets
(SD)EH @3N



2. Fixed assets
OO esden

2. %
3. Intangible assets

- QDO e30eY
4. Investments

4w FAIANATRNSY

Question Number : 9 Question Id : 5244764209 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Gross profit 1s
A €250 @9
Options :
1. Cost of goods sold + Opening stock

DEAOVD S G + |02 5

1. ®

!fx.)

Sales — cost of goods sold

€965 - ) SONOWN I Y G
2.

Sales — Purchases

2950257 - SR

ad

3. %



4. Net profit — expenses
Q8Y 5o — A HED

Question Number : 10 Question Id : 5244764210 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct form of Accounting equation is
295700 DSEE0 B, VJD EFD0
Options :

1. Assets — Receivable = Equity
esR0eD — fbgé&odcéﬁéb = gedeed

1, ®
2. Assets + Receivable = Equity
e30eD + D(SBOBEADD =SS
2. % o
3. Assets — Liabilities = Equity
eS1RD — erGSen = éaésé%
3.
4. Assets + Liabilities = Equity
eSVRD + eGSR = éeégé%
4, %

Question Number : 11 Question Id : 5244764211 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Joint Cost 1s suitable for
eméé, DS RS LTV &otod

Options :

1. Infrastructure Industry
3308 Horraire HBF

2. Ornament Industry.
) % esZyoeTe DOF.

3. Oil Industry
SE0E HDBBSD
3.¢
4. Fertilizer Industry
L DD OB

Question Number : 12 Question Id : 5244764212 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fixed cost is 30.000 and P/V ratio 1s 20%. Compute breakeven point.
DS 36 30,000 8ot P/V Dixy@ 20% 9O )CD 835 SDD FPa0edD

(3] éajor.‘éoci.

Options :



1. Rs.160.000

1. %

- 2. Rs.150.,000
N 3. Rs.155.000
L 4. Rs.145.000

Question Number : 13 Question Id : 5244764213 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An opportunity cost is a

wE eSS0 a-::cb;j

Options :

1. Direct expense

DS( 8 O[od0
Le SR

-2

Indirect expense
5 % D8 ei{entle

Variable expense
8o eed QJGJD

fad

3. %



4. Fixed expense
f&})d Syas0

Question Number : 14 Question Id : 5244764214 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cost accounting provides data for managerial......

o) @8 0e30h QB 85769 OO0 BETD €900

Options :

1. Decision making
Dgasro SR Do

1. ¢
2. Recruitment
) % BEed 20085
3. Retrenchment
) =roraleraplelar
3 %

4. None of the above
28 S5

Question Number : 15 Question Id : 5244764215 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Contract costing is not used in one of the following industries
308 003G WIS’ SPotrs By EDATACLIEDD

Options :

1. Ship building

| % 5.5 R’Jm{]}mn
2. Civil construction
ROie] Do), €90
2. %
3. Automobiles
e3¢5 DS
3.9
4. Construction of bridges
SHoDHO 4:}0“&,5'30
4, ®

Question Number : 16 Question Id : 5244764216 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Capital gearing ratio is
5[0 (80f DS

Options :

1. Market test ratio
$20°8),65 DOE N



2. Long-term solvency ratio

&GS FTDy S

2.
3. Liquid ratio
3. % 2 SQJE;‘?
4. Turnover ratio
€281 96 D&
s 3 A=

Question Number : 17 Question Id : 5244764217 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In ‘make or buy’ decision, it is profitable to buy from outside only when the supplier’s
price is below the firm’s own
‘B3t So S&0fen' Yoo, DEHT T &6 202 alg); Do

S083 Iy S &) 3D S BraHed #00d Saoffen
BaoEo erForoigo.

Options :

1. Fixed Cost
f”gd o)



2. Varnable Cost

8o &8
2.9
3. Total Cost
QB0 B8N
3. %
4. Prime Cost
DTR DA
4, %

Question Number : 18 Question Id : 5244764218 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the sales increase from Rs. 40.000 to Rs. 60.000 and profit increases by Rs. 5.000.
the P/V ratio is —

@953025°e) A3, 40.000 DO A3, 60.000 ORI )R, €250 &, 5.000 ©90NS
P/V QN)ed

Options :

1. 20%
1. %

2. 30%
2. %



4. 40%.

Question Number : 19 Question Id : 5244764219 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following inventory valuation methods shows higher profits during the
period of rising prices?
DAADSODY B 505" S08 TredeS” O @2:50&8 TR DAY WA ererR
AT TPON?

Options :

1. FIFO method.

FIFO &,
1. =

2. LIFO method.

LIFO D6,
2. % =
3. Weighted average method.
L S diew DO
3.

4. Simple average method.
Fer6es Dt DOS.



Question Number : 20 Question Id : 5244764220 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

.................. cost 1s rrecoverable cost.
........................ DN enfSD DN

Options :
1. Marginal

L% &roch

2. Product

&\ 3

2. % )=

3. Sunk
Lo ODAAPOND

4. None of these

D 3D 5%

Question Number : 21 Question Id : 5244764221 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The focus of Management accounting is on :
DODBA0E 9S00 CIN), e &P &od:

Options :



1. Tax Preparation

- DAY leubyle
2. External Reporting
e333§ 880
2. % g
3. Internal Reporting
903eh 8’ Goh
3. 2 =
4. Auditing

Question Number : 22 Question Id : 5244764222 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The concept of management accounting was coined by?
D0DHD0ES 95708306 2TDHDR DDE ErToSorTEd?

Options :

1. R.N Anthony
. x  RNeo&D

2. 7. Batty
J: aaeé

2. %



-

3. James H. Bliss

ﬁf.n:j TR, DR
3.¢ =

4. American Accounting Association
BED 95 oo N DADND

Question Number : 23 Question Id : 5244764223 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a method used in analyzing financial statements —
PQAES R0 FDoNEeS” S06 TES” DD DGS

E?

Options :

1. Variance analysis
;55@“5:3 DFed

1. ®

-2

Trend analysis
Gol DB

ad

Break-even analysis
835-S1 DD DI



4. Budget analysis
DG DI

Question Number : 24 Question Id : 5244764224 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Comparative Statements are also known as :
SOVT Y S DSLVVAL STT WO

Options :

1. Dynamic Analysis
GOS DFAee

1. %
2. Horizontal Analysis
£B2D7088 DB0ED
2.¢
3. Vertical Analysis
s QL) DFAE?
4. External Analysis
85| DB
4.%

Question Number : 25 Question Id : 5244764225 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Ratio can be expressed:
IO T 5{3560B8N.
Options :

1. Proportion
ﬁjt:qoje;g

2. Rate or Times
Bt S DHAvAITeD

Percentage

Tad

4. All of the above
?L:maﬁbi

4. ¢

Question Number : 26 Question Id : 5244764226 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Accounting Standard deals with preparation of Cash Flow

Statement
208 T DS 5“553 o %5&305 50377038 0230H0VR 95 0Ioh

Dro&s?
el G

Options :



1. ®

L u 2 AS—6
L, 3 AS3
L x4 AS-11

Question Number : 27 Question Id : 5244764227 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is a non-current item
208 T78e5° DO $50e5 = e90%0?
Options :

1. Securities premium

REFIBEL D00
1.

2. Outstanding wages

eohoS) DB

3. Trade payables
Tre3z| DHopew



4. Bank balance
a.réoé wﬂéej.%:j

Question Number : 28 Question Id : 5244764228 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Long term solvency is indicated by:
&¢s-9s 5“93853 & oroe Lrdoseatiactrod:
Options :

1. Debt equity ratio
B &3 D

1. %
2. Proprietary ratio
- OdJ‘“a-bn‘fu'“é?S R’Ja’q;)e;g
3. Fixed assets ratio
o - o
. SEREES L QD
4. All of the above
D)
4.

Question Number : 29 Question Id : 5244764229 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The term ‘fund’ refers to
'Do&! 9D Do Q2D0R.
Options :

1. Reserves

. 2)9.)59.1:
2. Working capital
é&boﬁ 5953:1@95
2.9
3. Profit
3. % &0
4. None of these
DY’ DA T
4, ®

Question Number : 30 Question Id : 5244764230 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following financial statement shows a firm’s financial position on a particular
date?
S06 THS” D 388 PID VY BHS” L0R) A, 388 VA BrLHSBE?

Options :

1. Cash flow statement
- DHEE DT DD



2. Fund flow statement
Do& i}ﬁ %33&5?.139&5

2. %
3. Balance sheet
(SO S
v el
4. Comparative statement
SOVTY) S DS
4. %

Question Number : 31 Question Id : 5244764231 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The demand curve is always

GaTrod HES DD\ ET E0t0od.
Options :
1. Level
e
% =

2. TIrregular
g0 SR

-

3. Upward sloping
o) TP



4. Downward sloping
Lo  S06s Treorr

Question Number : 32 Question Id : 5244764232 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
The components of W.T.O. are
W.T.O cﬁme‘% 23T
Options :
1. Ministerial Conference
200858 VATDFO

2. Disputes Settlement Body
DFore) DO G 20D

2. %
3. Director General
__ BOS6 2d3eS
3, % e
4. All the above
25D
4. t

Question Number : 33 Question Id : 5244764233 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is not matched correctly?
308 oS D& 2B DOSAT6)?
Options :
1. IBRD (estd.): 1945

1. %

2. IFC (estd): 1948
2.¢

3. IDA (estd): 1960
3. %

4. MIGA (estd.): 1988

Question Number : 34 Question Id : 5244764234 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A competitive market called a.........
208 ' 33°5),65 9O

Options :

1. Perfect competitive market
DOY J°ed A3°T). €5

2. Monopoly
DTEHDS0



3. Oligopoly
3 % 298D

4. None of these

. DdeS” DS Sk

Question Number : 35 Question Id : 5244764235 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following..........

808 73D DB NO.......

i k.

[.  Perfect competition a) Financial markets
DO Fe3 2308 50, N
[I.  Monopolistic competition  b) Manufacturing
DEODS 3 S350
III.  Oligopoly c) Cars
2, 52
IV. Monopoly d) T1'ai15p01'r
N ODEHS0 Ooyeeae
Options :
1. [-a II-b II-¢ IV-d
1. ¢
2. [-c II-a II-d IV-b



3 [-d II-b II-a IV-c

4. [-d II-c II-a IV-b

Question Number : 36 Question Id : 5244764236 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tea and coffee are
&) 20805 57 D)

Options :
1. Complimentary goods
SP00008 DD

1. ®
2. Substitute goods
2TP(AT™) Q) DAL
2. S e 2D
3. Supplementary goods
. RIREN0EY DRV
3.

4. Reserve goods
8220 DAY



Question Number : 37 Question Id : 5244764237 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relationship between price and quantity demanded is
(6 00A3 G0l DBBEIEI0 LG DoLr0Go!

Options :
1. Direct
G005
1. % e
2. Inverse
9 o 3&36:130
3. Linear
L x OJops

4. Non-linear
T9-9Doé

Question Number : 38 Question Id : 5244764238 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the commodities are substitute in nature, cross elasticity will be
SNHEN (DEIDES” (DEB 5377 ODOTP GO, |5°0 WIS b
€s0ENO0A.

Options :




1. Negative

DOSTPV
1. %
2. Positive
9SO
2.
3. Zero
-
20
3% Al

4. Any of the above
DD DT D) TOS” ABT

Question Number : 39 Question Id : 5244764239 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Unitary elasticity of demand mean
GATOl CB0g) IS DEFDES o

Options :

L. EP==]
1. &

2. EP=x]



EP

T4d
I
o

4. EP=1
4. &

Question Number : 40 Question Id : 5244764240 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the case of perfect inelasticity, the demand curve is
2OY VST DS DNoo’, Aol HYH €008,

Options :

1. Vertical

Le 0D
2. Horizontal
. 2D HAToHS
2. %
3. Flat
_. ¢S
3, % E
4. Steep
QeI o
4, %

Question Number : 41 Question Id : 5244764241 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0
In partnership. partners liabilities are
wﬁﬁﬂémﬁoéﬁ ‘ wﬁéﬂsm'e.: e CS{SRD
Options :

1. Unlimited
2930800901 & otPoN

1.¢
2. Limited to the capital of the business
TG G0, LreTrdS HD8Go BoHedod
2. %
3. Limited
3 % DB SotTron

4. Both (1) and (3)
(1) 208030 (3) Botir

4. %

Question Number : 42 Question Id : 5244764242 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Match the following
308 & DB vyod

List-I (Type of Entrepreneurship)
arDoe-1 (Qo&:ﬁ@éfséﬁnb gsee)

(A) Joint
&0 G

(B) Co-operative
2arsS

(C) State
D‘”E}lﬂ

(D) Private
20085

Options :
1.A-1 B-u C-i1 D-iv

2.A-1 B-iv C-i1i D-i

2. %

3. A-1ii B-i C-ii  D-iv
3.¢

4. A-iii B-iv  C-it DA

List-IT (Reporting Countries)
2 -1 (880 B7ew)

1. Pakistan Entrepreneurship
TSP DEOFDSS

ii. China Entrepreneurship
BT D{OFDES

iii. India Entrepreneurship
TEBBE DHEOFDES

iv. United State of Entrepreneurship America
CH0IEE S €5 DoerbRAT(6D 208



Question Number : 43 Question Id : 5244764243 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An entrepreneur’s primary motivation for starting a business is
T(FTY) FE0DOTEIS w8 DHHFDDE FBS 06

Options :

1. To make money
ceady DoTFBocserdS

1. %
2. To be independent
‘é}geﬁogorﬁ =lelodale)
2.9
3. To be famous
D0 B &odicio
3. % *
4. To be powerful
. $3Dodorr oo
4.

Question Number : 44 Question Id : 5244764244 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ownership capital is also known as
Q32RO QTG0 29 ST e90eTED.

Options :



1. Debt

-

Eﬁu;)_')mj
1. %
2. Equity
éeé‘sé?s
2.¢
3. Loan
3 % doeso
4. Mortgage
Soar
4. %

Question Number : 45 Question Id : 5244764245 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the reason for business failure
308 TOS” T8 PDer(IS S°Gev0

Options :

1. Lack of market research.
55°8).65 DT BD FErSdKo.



2. Poor financial control.
2207 €308 DONO|ehea.
2. %
3. Poor management.
AT Dges
3. %
4. All the above.
Pre o8
4. —

Question Number : 46 Question Id : 5244764246 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which documents contains the constitution of a company?
D HTpew %ond Terorrd) $98 emmy ow?

Options :

1. Memorandum of Association

DOATT°00 €35 9 BAD
1. v

-2

Articles of Association
) 23GND €39 ZIELN



-

3. Prospects

_ RIDT TR
4. Pre-incorporation contracts
f’g-fa}ﬁ*gﬁbéﬁé 2050C°
4. % '

Question Number : 47 Question Id : 5244764247 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important clause in the memorandum of association of a company is
D0 CINE), DAFT°0ER €5 T DEDNRD' 93 H0BID e0td?

Options :

1. Name clause

- DB LIoSR
2. Object clause
3835 IR

7 &5 e

Tad

Registered office clause
AArHS ST (05 D20



4. Liability clause

emcé?ge:’a DI0ED
4, %

Question Number : 48 Question Id : 5244764248 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many form are there in Memorandum of association
DOATT°00 €39 o) dADS’ 2y S aren &) o?

Options :

%
12
oyl

Question Number : 49 Question Id : 5244764249 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The board of directors of a joint stock company are elected by
200085 5 L0 GR08), ESGQ e G058 TO° D)) SAITED.

Options :



1. Shareholders

. TEFTEOeD
2. Employees
e&§ren
2. %
3. General public
FeEe DR
3. %
4. Government
0FS0
4. %

Question Number : 50 Question Id : 5244764250 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Every partner is both an agent and a principal. Identify the characteristic of partnership

being referred here.
DS eI DTS BOBOIN DIVTES. RE) ¢ PP DocseICD (V0

LT (bBodoc.

Options :

1. Mutual Agency
BAT(EAHS DFIY
1.¢



2. Risk Bearing

- 65:-25 £380A
3. Membership
2Z3ed
- A
4. None of these
DS DA S
4, %

Question Number : 51 Question Id : 5244764251 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a person accept a proposal, there is
WS HS w8 DA B 290580,

Options :

1. Proposal
. DIFED

-2

Promise
TR0
D

fad

Agreement
a..a?b:]ocﬁo



4. None of these

S DA S

Question Number : 52 Question Id : 5244764252 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An agreement is
20s eu?’.:::}ocﬁo

Options :
1. Offer
e300
1. ®
2. Offer & acceptance
2086 & evofisedo
2.9
3. Coniract
- an.JDoc’Jo

4. None of these

DeIS® D& S

Question Number : 53 Question Id : 5244764253 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



An agreement that is caused by fraud, misrepresentation & coercion is ?

BT00, SN FEIE[0 & Lvbodo HY DBNE w00 ?
Options :
1. Voidable
BPA(DODE
1. ¢

2. Partially Void
FE S0 B0

2. %
3. Valid
WRLETD 9NV
3, %
4. All of these
@bbl
4, % )

Question Number : 54 Question Id : 5244764254 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many ways for revocation of proposal. according to the section 6 of the Contract
Act, 18727
Seor§ 90, 187265°D LD 6 DTG0 DATEIL 6L VoS Ay

SAI°Te) eaﬂim'?
1]



Options :

1. 2
1. %
2, 3
2. %
3. 4
3.¢
4. None of above
L DD VB 20

Question Number : 55 Question Id : 5244764255 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is the agreement that is enforceable by law?
Sob ToES” 50 T(T° 9 WONWAD D030 D&?

Options :
1. Contract
a.:;’:Docﬁo
1.

2. An agreement
92085



Ly

Both (1) and (2)
(1) So8030 (2) Bo&oe

4. None of above
DD SO

Question Number : 56 Question Id : 5244764256 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

There are implied conditions in a contract of sale
DEod> aﬁgcéoe‘sﬁ 2ArDodD DBBILL &T°) a?
Options :
% 1.0
20 2= B
3. I7
3. %
o =

Question Number : 57 Question Id : 5244764257 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In case of breach of warranty. buyer can
T608) LoD Daohoeds’, §of et 30305630 ?

Options :

1. Repudiate contract
@b:lcm“.ﬁl S8R Bocsco

1, *
2. Returns the goods
DDV SOH DDA
2. ¢
3. Claim damage only
BT HorG Fawd
3. % = -
4. None of these
DOS" IS S
4. %

Question Number : 58 Question Id : 5244764258 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If agent makes secret profit out of business. he loses
DToeS Te{FBo Aoc: BT erHo ToBILONS, WS DR Teed?

Options :



1. Profit

erZdo
1. %
2. Remumneration
Fola e
2.
3. Profit and remuneration
- erZd0 U803 Deddo
4. None of these
i} De¥S" DA S
4.

Question Number : 59 Question Id : 5244764259 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The notice of general meeting to non-profitable companies are given in?
eI 0E G0 S00DVL) FTEE DATDF0 DX 065

"5?555551:53!).

Options :

1. 15 days
15 Baven



2. 22 days

- 22 Baven
3. 14 days

- 14 Sazen
4. 33 days

.0 33 Baren

Question Number : 60 Question Id : 5244764260 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If seller delivers goods in excess quantity. buyer may
DFH 9305 DBATE085” DLWV EOHE B, TR LT
AR50 ?

Options :

1. Accepts the whole
BP0 D{SEE

2. Reject the whole
Q00 HG) G



3. Both (1) and (2)
(1) So8asw (2) Socise

4. None of these
IS’ DA S

Question Number : 61 Question Id : 5244764261 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Microcredit 1s defined as

;_Eug SAeS eaddrr
Options :

1. It 1s the small credit given to poor.
Q6 DAV B3N DY) SES.

2. It is the instalment given by Farmers against Loan.
Q6 G830 THLLL QLN T°QVT.

Lad

It is the amount given by Govt. for Small Industries Development.
D) O30V 0DD)B §0 PFA ADND wdo.

4. None of these.
DS’ DA Fo.



Question Number : 62 Question Id : 5244764262 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mutual funds are required to be registered with:

BOTES0BS Dok & dArd B0 d?
Options :
1. AMFI
1. %
2. SEBI
2. ¢
.« 3. IBA
, % 4 RBI

Question Number : 63 Question Id : 5244764263 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Banking sector comes under which sector?

W5c§oﬁ Sorso & Borio S0 H0H?

Options :
1. Services sector

v A0 Sotfo



2. Manufacturing sector

5030 Soddo
2. ®
3. Realty sector
8059 Soro
3 ® £
4. Industrial sector
FOFT S Gordo
4, %

Question Number : 64 Question Id : 5244764264 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

PAN number is required for which financial transaction?
ARTIE: rTrBDS D Hoed 9DE0?

Options :

1. Deposits less than Rs.50.000/-
65°.50,000/- S0 <y &5 Areew

2. Deposits in excess of Rs.1 lac
6.1 8 S0 Jeby) &S AT

)

Deposits Rs.50, 000/- & above

Aaratwn 63°.50,000/- & 038083 IS
3.¢



4. None of these
DereS® DE S

Question Number : 65 Question Id : 5244764265 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Fixed Deposits is otherwise called as

DE\E A Redd 9 SIC 9083 ED.
Options :
1. Accrued Deposits
58S et
1. % & N
2. Time deposits
S A
2. ¢ =
3. Recurring Deposits
85806 ErEew
3. %
4. Demand Deposits
AAro& A
4.%

Question Number : 66 Question Id : 5244764266 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who mtroduced the Banking Ombudsmen Scheme?
ajﬂjscécﬁ Eﬂoe\l}&;}?ﬁuﬁ DESAY DGO Qé%bgdﬂ

Options :

1. RBI
1.v

2. SBI
2.

-

3. Ministry of Finance
e.egé SDOTS F°D

4. NABARD

4, %

Question Number : 67 Question Id : 5244764267 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Reserve Bank of India (RBI) was established
826 er§05 €D wodatr (RBI) S FHowserdod?

Options :

1. April 1, 1935
1.v

2. April 1, 1934

2. %



3. April 1, 1936

4. April 1, 1937

4. %

Question Number : 68 Question Id : 5244764268 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not an organized sector in India?
208 THS” erE3BIS” BHRES Sotfo TS DE?

Options :

1. Nationalized Banks
2PEI0I00 DODLIED SECELS

1. %
2. Regional Rural Banks
. FoSoH T erjosoen
3. Cooperative Banks
50 w&oﬁ:w
3. %
4. Chits and Money lenders
L D8 &bok» 20 St
4.+

Question Number : 69 Question Id : 5244764269 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Expand NEFT
NEFTRQ D38otsoc

Options :

1. National Electronic Fund Transfer
2378305 QUz*AS Dok 2269

1. v
2. Neutral Electronic Fund Transfer
ARG JOSIS Dok gaﬁmﬁ
2. % = o
3. Nomuinal Electronic Fund Transfer
TG JVTAS Dok L)
3. &

4. Natural Electronic Fund Transfer
PP L) ;)E.Jgﬂbé Dok 2289

Question Number : 70 Question Id : 5244764270 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the present Governor of RBI?
RBI 0R0¢ 15616 0857

Options :



1. K.C. Chakrabarty

5.2, 558

], ® =

2. Shaktikanta Das
- %3570 o

3. Raghuram Rajan
X G200T ) T2

4. Montek Singh Ahluwalia

370835 Vo e dasr

4. %

Question Number : 71 Question Id : 5244764271 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

E-Commerce stands for
‘E'Sﬂmﬁs e9083
Options :

1. Electrical Commerce
Quéée‘i sﬂa‘:ué-;}

2. Electronic Cominerce

DSOS SﬂsfnﬁD
2.V =



3. Entertainment Commerce

D3 Te30
3, %
4. Electro Chemical Commerce
0T ZNES 06y
4. % -

Question Number : 72 Question Id : 5244764272 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Google” is one of the most popular....................
"R RDDE [0 e3¢5 TOOD. ... ...

Options :
1. Portal
sed
1. ® =
2. Browser
e
2. %

Search Engine
F B35 @o2d

Tad

3.¢



4. mnone of these

HOS® DS S

Question Number : 73 Question Id : 5244764273 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Companies like Flipkart. Amazon and Myntra belong to which type of Ecommerce (EC)
segment.
2DD5°6, RO LB DOT® Hod S0V D BSRD &isma0dy (EC)

DTS 0D,

Options :

. 1. B2B
2. B2C

2.

« 8 op
4. C2B

4, ®

Question Number : 74 Question Id : 5244764274 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is ‘EOQ’ in Inventory control?
208 Daogesss” EOQ' 9083 ded?
Options :

1. Economic Occurring Quantity
E_egéon“ 2023Dot HBAFE0

], %
2. Economic Order Quantity
DSTPS 386 DOHIE0
2. ¢ t:
3. Economic Over Quantity
DSOS 8,56 5B
3. %
4. Economic of Quantity
DET S e3H s“SoéBé?)
4. %

Question Number : 75 Question Id : 5244764275 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is/are considered examples of the Consumer to consumer (C2C)
model?
208 TS° DA DABFHETE od DI HTEEd (C20) DrrcessH

ETETSeAT DO LICIAI0D?



Options :
1. Amazon.com

], %
L w 2. e-bay
3. Rentalic.com
3, %
4. All of the above
DD ed
4. - 2

Question Number : 76 Question Id : 5244764276 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

C2C 1s the abbreviation of
C2C 058 G30E), 20&.256es.
Options :

1. Business-to-Government E-Commerce Model
ﬂ&%ﬁa-é&;-ﬁaﬁd&&mﬁ @-5“5535‘3 AT Eied

2. Business-to-business e-commerce model
DEDI-LV-DEDD ‘E-S‘”aﬁ}ﬁg aTeeied



Business-to-consumer e-commerce model
eaemi:-e.u-sm%mﬁ @-s”;.‘ué;) aTeeied

Tad

4. Consumer-to-Consumer E-Commerce Model
5:'{}?‘35{135'&13'5333‘555.‘135 @'S"o‘ﬁjér:.] aJecied
4.

Question Number : 77 Question Id : 5244764277 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

............ E-Commerce transaction has the advantage of eliminating middlemen.
............ éa-s*ja‘.u&:j TR, mqﬁéaﬁgaus{u Sofod HATrRN0 Eod.

Options :

x 1 B2G

.o 2. B2C
3. B2B

3. %

'« 4 B2E

Question Number : 78 Question Id : 5244764278 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which is not a function of E-commerce
':e-s“sﬁoﬁb OB0E); DE ST

Options :
1. Marketing

5‘.1?5&&305
1. #

2. Advertising

FOL{ATLISY
2. %
3. Warehousing
Actoh
3.¢ o
4. None of the above
DD SO
4, %

Question Number : 79 Question Id : 5244764279 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The World Wide Web (WWW) was introduced inthe year ........................
DO S& T2 (WwWw) 208 \60 HDIDLWES.

Options :

1. 1994
1.¢



2. 1996

2. %

L x 3. 1992
4. 1990

4, %

Question Number : 80 Question Id : 5244764280 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

................... always operate on intranet
......................... VDT QOEPDESS” DABIa?

1. E—commerce

- "Q'S“&f).)é:b
2. E-Business

- Q=32
3. EDI

3. %

4. None of these

Lx 288 6 S



Question Number : 81 Question Id : 5244764281 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Auditing begins where ends.
D) ¢ BHRE 8 oh F) ¢ FBoBLDHIA0E.

Options :
1. Selling
Eﬂ&fl}ééo

2. Inventory valuation
@550&)& a“médijt“qé

3. Accounting

v esS otdoh

4. Purchases
&0

Question Number : 82 Question Id : 5244764282 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An auditor 1s like a
esced s el

Options :



1. Blood haunt

g0& 33°085
1 ®
2. Watch dog
T r;:ﬂﬁh
2.¢
3. May both according to situation
DBV DSG0 TothT €0y
3. % |
4. None of these
L DS DA S

Question Number : 83 Question Id : 5244764283 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Audit programme is prepared by
o(O° e33e5 TP Saird Soechdod.

Options :

1. The auditor

- 03506



2. The client

) ga08d
3. The audit assistant
e3CES €9020085
3. % =
4. The auditor and his audit assistants
. e5¢i86 000K S L VoW
4.

Question Number : 84 Question Id : 5244764284 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



What is the correct sequence of the following aspects in auditing?
233830085 308 0T DBD F0 DAEY?

I.  Special audit
VB[S e

II. Internal audit

e::oe:'age:& e3ce5
I11. Internal check

o3 DD
1% Annual audit

SEe e3585

Select the correct answer using the codes given below:
BAD RBED EELR &DATAOD 2TD VAT JotkoEod:

Options :

i. THLIL TV
1.

2. B LH
2. %

3. HLAL IS0
3. %

4. LIL I IV



Question Number : 85 Question Id : 5244764285 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

First auditor of a company is appointed by the
S000S8 AV 36D DG JoHAFE?
Options :
1. Shareholders

) Fer g aleblbb
1. %
2. Central Govt.
Sog HHIS0
2. % o
3. Company Law Board
02D e 85°%)
3. % =
4. Board of Directors
e5°6 esD 206y
4 o= &

Question Number : 86 Question Id : 5244764286 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Previous year means
A0 "ﬁacsﬁe:’s;)do 09063 ?

Options :



1. The year in which income is earned
5570500 Dedy RodS\Go

1. ¢
2. The year in which pay tax
D) Do Q050
2. %
3. The current year income
LS :30:)‘@350 esmPaloo
3. %

4. The year in which tax assessed
DR DB BODRERD QoSS B0

Question Number : 87 Question Id : 5244764287 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rental value 1s also called as
e_r.:r.g VD 29:) ST 908D

Options :

1. Actual fee
TP GOV

2. Real fee
Q23R GO



License fee
SOy GV

L4l

3.¢

4. Tax fee
:Jml SO0

Question Number : 88 Question Id : 5244764288 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Calculate taxable HRA from the following: HRA received Rs. 1,000 p.m.: Rent paid Rs.
1.500 p.m.: Salary Rs. 10.000 p.m.: D.A Rs. 500 p.m.
So& &) Aod DAY DBoLEAHd HRAD &) otdoc:: SR HRA

¢oe. 1.000 p.m.; $8odd 8 8. 1.500 p.m.: 2o 8. 10.000 p.m..
D.A &5. 500 p.m.

Options :

1. 6.000
1. ¢

2. 5.000
2. ®

3. 4.000
3. %

4. 3.000

4, %



Question Number : 89 Question Id : 5244764289 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sum of various heads is called as
QDS aEy VTR €90E .

Options :

1. Taxable income
DAY DEOIHD esraio

1. %
2. Total income
QS0 e300
2. %
3. Gross total income
AL Qo esTralo
3. »
4. Adjusted income
:bg_)eaﬂé.u DD esraio
4, %

Question Number : 90 Question Id : 5244764290 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Present Income Tax Act 1s applied to whole of India including
DAOS BTPOHY DAY 0o & D erEB%0 VTS H800d?

Options :



1. Sikkim and Kashmir
f’béajo So8a30 5{*%’&5

1. #
2. Sikkim and Nepal
D) 0 80K de5
2. %
3. Sikkim and Jammu and Kashmir
f‘oébo 08030 228007, 8oL Sﬂfaéﬁ
3.9
4. Sikkim and West Bengal
f’bébc Foblelonbh EJ%‘(‘:,S‘.IJ gdorred
4, %

Question Number : 91 Question Id : 5244764291 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Physical environment includes.. ..
TS TrrHEe0 B SOA Gotod?
Options :

1. Natural resources
Aadr2d eomdoe

2. Climate
o il iPelelarTe]



Water

Lad

\ Do
4. All of these
@ébl
4.

Question Number : 92 Question Id : 5244764292 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

23R F AISHD e_egsi DTPH0 D8 DeVDD LIZTVB?
Options :

1. Dr. K.S. Rao
mgﬁ S.0)m. T

2. Mr. Jaswant Singh
QN6 2D Doh

3. Dr. Manmohan Singh
g6 L0 oh

4. Mr. Venkateswar Ray
3 boééﬂ%&d 3



Question Number : 93 Question Id : 5244764293 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GDP consists.......
GDP 322 €88 cotnod.....

Options :

1. Per unit market price
03P 23°G) & &6

1. %
2. Gross output of goods
DRV W) &B\S
2. % N
3. Service
S
3. %
4. All the above
2B
4.9 .

Question Number : 94 Question Id : 5244764294 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



GST refers for.......
GST B ArAb.....

Options :

1. Goods and Services Tax

SV 0801 VHL DAY
1. ¢

2. Goods Service Tool
SR DT FEd0

2. ®
3. Gross Stock Tax
Are oS 2R0Y
3. % @ =
4. None of these
Lx Q0S8 S

Question Number : 95 Question Id : 5244764295 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Globalization means
DDOVEEE? 90837

Options :

1. Reduced role of public sector
SAD DIVSQ Sotf TS



2. Integration of economies
2308 H(DVL JSE6e
2.9 ® -

3. Lowering interest rates
DS Be Bfotsco

4. Control of inflation
QSSE_JQHG Qodoghes

Question Number : 96 Question Id : 5244764296 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Expand MSME
MSMER D38otsoc:

Options :

1. Medum, Small and Micro Enterprises
ma;ﬁég. ) Hdatn Vg “rbo‘fgw

2. Micro, Small and Medium Enterprises
Arg) . DD SB05 HG[BEDE DOV



Minimum, Small and Medium Enterprises
53;&. rf)é;l Peblolenbh) &‘.13655 035 "ﬂo"ﬁ&u

Lad

4. Nomne of these

DdS® DA S

Question Number : 97 Question Id : 5244764297 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

FEMA is a replacement to which Act?
FEMA 038 9 e¢rd8 Dz oo?

Options :
1. MRTP Act
1 MRTP ¢
2. FERA
Folen
2. ®

-

3. Competition Act

e r:.’a%go



4. Companies Act
S0L 30

Question Number : 98 Question Id : 5244764298 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not the Characteristics of mixed economy?
308 TrOS” DO DB 589 HHD AV, VLETRL S?

Options :

1. Public interest
23T DOIT°2RA0

1. %
2. Joint sector
) em&& Sorio
2. %
3. Public control
__ 2 dadoghes
3. %
4. Economy independence
2385 (o 0
& %
4.9

Question Number : 99 Question Id : 5244764299 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Negotiable Instruments Act came into force from.....

D 220308065 RILD0ESY oIS DODIEB B0 esrenes’s HD\od?
Options :
1. 1881
1.v
2. 1818
2.
L x 3 1890
4 1891

Question Number : 100 Question Id : 5244764300 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

DFImeans..........
DFI e2083.......

Options :

1. Domestic factor income
B03 S°6E esTroio

2. Domestic financial income
B30 BQS e3z3°03%00



Donation factor income
QoY 5°EE esroido

Nomne of these

DKS® DA S



